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Cluster: 0056 ptr; resid: 0.30; r/c: 32/60

x.range

upstream meme PSSM #1; e=3.1e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=5.8e+04

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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16693
7780

14177

14329

14477

15207

1534

15341

15929

16014

16105

16471

21996

3834
39303

39615

40322

41807

44112

46277

4634

46830

47669

48117

48267

49296

49514

49592
49601

49646

49877

50078

string −500 −400 −300 −200 −100 −1
14329NA
15207−0.02
49296−0.03

7780−0.05
49514−0.08
49592−0.10
40322−0.19
14477−0.24
44112−0.31
15929−0.51
16471−0.57
46277−1.02
48267−1.16
16693−1.41
50078−1.59

3834−2.02
41807−2.07
49601−2.42
49877−2.42
14177−2.42
15341−2.50
49646−2.77
16014−2.97
48117−3.01
39615−3.41
16105−4.05
46830−4.38
39303−4.84

1534−7.46
4634−7.68

47669−8.29
21996−10.15

log10(P) upstream meme1 2 log10(P.clust)=−2.58; 32 seqs; 32 uniq
c(0.5, 2.5)
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